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350, 00021 %50% 17,500
oSALMYHIIT XEVE 22
250, 0002 %902 22,500
oHMUBITQA NI
200,000 %100 20,000
HYAMAER N T2 (MEALY) 261,120 261,280 A160
= 130,000
Al 131,120
202 04| 1,120 1,280 A160
01 =LHA LI 1,120 1,280 A160
OdflfelMAE= el tMEH & &Y
< 20,0003 <2 4 &7 1,120
307 @120l & 260,000 260,000 0
s 130,000
Al 130,000
02 LB AANHEE 260,000 260,000 0
O A= ME 2208 28 X
260,000,000& x14] 260,000
& 130,000
Al 130,000
A MAE= XHEwna 45,000 45,000 0




2A:

ol 2F& 24 1k

M i MAY SMANE SH (2L 2E/HS)
Selr oM AZ= Ed35) (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 45,000 45,000
02 2B YA HE L 45,000 45,000
Ognt = s MAE= T2 X
45,000,000 *14] 45,000
SHLAMAZE= H3] JHE 450,000 410,000 40,000
=S 165,000
Al 285,000
HELH F2LEWS 100,000 60,000 40,000
< 20,000
Al 80,000
307 elztol & 100,000 60,000 40,000
& 20,000
Al 80,000
04 CIZHHAMAIRH 2 & 100,000 60,000 40,000
OH=H &= LEUE
100,000,000& 12 100,000
= 20,000
Al 80,000
O &= o NAZER U2 150,000 150,000 0
== 45,000
Al 105,000
307 212+01& 150,000 150,000 0
< 45,000
Al 105,000
04 QIZHHAMAIRH 2 & 150,000 150,000 0
OO d= ofdMAE=x 2l
150,000,000& 12 150,000
= 45,000
Al 105,000
golietd =HREHE 200,000 200,000 0
== 100,000
Al 100,000
307 212+01& 200,000 200,000 0
< 100,000
Al 100,000
04 QIZHHAMAIRH 2 X 200,000 200,000 0
Odgalietdd =HeEU
200,000,000& *13] 200,000
= 100,000
Al 100,000
X&JtsE olorae| (& /oY) 867,514 1,211,573 A344,059
= 30,550
s 13,442
Al 823,522




S£A: oHZ Dt
S XHIbssh Horae|(sHE /o)
el B0 X EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Tlgor X4 699,644 1,068,583 A368,939
HHOFAHI ALY 399,644 1,068,583 A668,939
101 eI t| 35,700 35,215 485
M IIRINZ2Z2XsSEs 35,700 35,215 485
Oaxssstie] 2eld 35,700
SRuE 39,4402 x2F 222 x 12 20,825
oxFgsg 39,4403 2B 4L x 128 3,787
oIt 39,4403 2B+ 1L x11& 868
oMBOT PRAY
3,4003x2F x27 U+ 12F 2,204
ogg2Esyd
39,4403 +2B 152 *150% 1,775
oASIEEE 3,241,000 14 3,241
SISES = 3,000,000 14 3,000
201 L2 | 31,064 31,928 A\864
01 ArR2eltl 1,064 1,928 NB864
Oget=2H| 1,064
oASEEliel SE0Is EHHEE P
2,4002 3001123 864
oASEECiel HEOI=0IAIE N2 A}
=2 200,000 x 10 2 200
02 32| 30,000 30,000 0
Odler AIEZE &l 2 &A= X
30,000,000& *14! 30,000
202 04d| 2,880 1,440 1,440
01 =LHO4 L] 2,880 1,440 1,440
Ogot AldZ2 &d
20,0002 *3H 43| 128 2,880
401 A& HIZL20HH] 330,000 1,000,000 670,000
01 Al&HI 326,976 991,900 A664,924
OSAE HQDIE Sz HBSA
100,000,000 *99. 1/100& 99,100
Odhietdla A2 Edl
100,000,000 *99.1/100 99,100
SEM A3l 181-12HX 2 M ENSIIoh
23(H 65 HHE =)
30,000,000 *38.92/100 29,676
Odor AId= &l
100,000,000&+99. 10/100 99,100
03 Al 2 CHYI 3,024 8,100 Ab,076
O3S HL0E SUE2 HBSA
100,000, 000&+0.9/100 900
Odlietdla AlE2 &l
100,000, 000&+0.9/100 900




SN HY D
A XBItss derae| (88 /)
s =gt 24 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEW A3cl 181-18 Xl 2 M EYSIlol
=7 (H 62 EHZE It=)
30,000,000 *1.08/100 324
Oolor AldE H|
100,000,000 +0.90/100 900
252K 7 AUHEBIAY 300,000 0 300,000
401 AIEHIZ SR OHYI 300,000 300,000
01 Al&HI 297,840 297,840
OAS2X 7 HAHIHIAIY HEY TIoHE
& 300,000,0002%99.28/100 297,840
03 Al 20HHI 2,160 0 2,160
OAS2X 7 ACHIHIAIY e LIcHE
o 300,000,000& *0.72/100 2,160
OHE 243t 141,570 116,830 24,740
= 30,550
= 13,442
Al 97,578
HENESL0E M2E WS X 91,650 70,390 21,260
= 30,550
& 13,442
Al 47,658
307 lztol & 91,650 70,390 21,260
= 30,550
< 13,442
Al 47,658
02 2B HAHE L 91,650 70,390 21,260
O0EMEF20E M2 HE X2
1,527,500 x5 « 12 91,650
= 30,550
== 13,442
Al 47,658
HEMEz20ts 29 NE 49,920 46,440 3,480
202 04l 1,920 1,440 480
01 SLHoIH 1,920 1,440 480
ONEMEZF20ts 24 &8
20,0003 «2EH 42 x 122 1,920
307 gl2to| & 48,000 45,000 3,000
02 QIZtEHAEE X 48,000 45,000 3,000
ONEMEZF20IE MEE =28l XI&
8,000,000 6K 2= 48,000
SH=H 2l 26,300 26,160 140
SH+=H 2l 26,300 26,160 140
201 el 20,000 20,000
01 At22t2lt] 20,000 20,000




SH: LR
B BObSE olorEel (8 /H)
=@t SR=E 2l (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OBR+8 f 2HIIZ A2l
320, 000214625 20,000
202 01t 6,300 6, 160 140
ERTL 6,300 6, 160 140
OBR4T & - A8 510t L Z2 & =0l
20,0002 x4 122 1,920
OBR4 U 2XHIIS el
20,0002 x2& x5 1224 2,400
OBR4Y B BT 42 2
10,0002 22 +03) 1,980
AY2IZHI (L) (DIEH/IIEL 65,877 74,378 A8,501
EETT 34,809 32,083 2,726
EEET 34,809 3,083 2,726
101 Q12| 34,809 32,083 2,726
(8 B2 (I 22 R4 34,809 3,083 2,726
OAlZIRIR R4
16, 1152 x4 2 x20A| 245 122 150% 23,206
OfLRRLY 11,608
oHYTH S| O U T 22
108, 904 +324 <202 150% 11,608
SIEETY 31,068 12,29 A1,227
SIEET 31,068 12,29 A1,227
201 Let2 ) 19,601 28,284 8,683
01 Al 22l 19,601 28,284 8,683
OYLe2H| EHHA
9,289,000 14! 9,289
Ol BXHA 10,312, 00021 *14] 10,312
202 014 7,267 9,65 £2,388
ERTL 7,267 9,655 ~2,388
SH2Y EMH 7,267,00021%14) 7,267
208 22 EZIY| 4,200 4,356 A156
VYN EES N 4,200 4,356 A156
OMLH M DH(212) 30,00021* 122 4,200




